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Question Number : 1 Question Id : 6981773979 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Identify the INCORRECT statement
Ield FA« I dgdrd HIfSAT |

Options:

Habitual behaviour 1s inherited

» Jadd dagR fatad & @erdr g |

Habits are acquired dispositions

., ed AT AAgiaar & |

Habitual actions are performed every time in the same way

, e Rt 9ed® aR U & 9hN § GGRia F S ¢ |

Habitual actions are performed with great ease

. e fHard e 8§ geRia &1 S € |

Question Number : 2 Question Id : 6981773980 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0

NCF 2005 has strictly prohibited board examinations at this level

NCF 2005 =¥ Tq¥ 9 dis 91T & §aem dfeid &ial ¢ |
Options :

Class X only
| Paa X Fal &

(Class XII only
, x ad XII Fer &

(Classes V, VIIT and XI
V. VIII 3T XI Semsit =&
3.«

(Classes X and XII
. X 3R XII wetmsit &

Question Number : 3 Question Id : 6981773981 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The percentage of representation of parents and guardians in the school

management committee prescribed in the RTE Act, 2009

RTE 3faferas 2009 & 3FT8R SIeRnen Yaee §fafa & aAdarfar i st &
widfefee @1 gided § -

Options :

One fourth

. Ul



Half

2. %

Two third

5 GFfdE

Three fourth

o At

Question Number : 4 Question Id : 6981773982 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Students in a primary school are found to have a very positive attitude towards

helping others. That school can be said to have accomplished the goal of

developing this domain of students

Th s qreerer & o # gl H WEEdl FA f Th dgd g FHRIcAD
yafd 9y IRl § | AE el off Fhll § 1 50 IIGATSN of Ol & 37 &1 & fddr
& & B GIed Y foAT ¢ -
Options :

Cognitive

HAAICHSD

1. &

Affective

2. o Tl



Conative

ERIEED

3. %

Psvcho-motor

HigehI-AleT
4, %

Question Number : 5 Question Id : 6981773983 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

A person in his twenties has joined coaching centre for learning gymnastics and

dropped out as he could not perform. This can be attributed to the fact that

U A O g quh # FAAed W & T FieiT g A sl gam sl
3Tcal Ygiel o &l Ulel & HNOT rdiel oidll 9IS f6aT | SHa AT 3§ d2g & fgar
ST ¢ -

Options :

the individual has crossed the critical age period for learning gymnastics

1#Eﬁﬂﬁﬁmﬂmﬁlﬂ@ﬁﬁﬂﬂﬁqﬁmaﬁfﬁqﬁﬂﬁﬁl

The individual did not reach the maturation level required for learning

gymnastics

fad T&Hﬂlf&%%ﬁﬁmwﬁmmﬁﬂﬁﬁﬁwﬁl

the individual understands the guidelines for learning gymnastics

e Saaecs O & Renfadet # ga=ar §

4. %



The individual have a positive attitude towards gymnastics

afad &1 TSAes & Yid PRIcHS TIoehIur ¢ |

Question Number : 6 Question Id : 6981773984 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Arrange the following first four stages of Erikson’s Peychosocial development in
sequence In ascending order
TR & Ao [ae FI 9987 a1 FaEE §f FRG $8 & gaiad
FIfor |
Options :
Trust wvs. Mistrust; Autonomy wvs. Shame and Doubt; Industry vs.
Inferiprity; Initiative vs. Guilt;
faeary 99T Jfavara: T@Ear 999 9T 3 Oeg; INAE S99 giar; 98
1. % dedlH FHYITE

Industry ve. Inferiority; Initiative vs. Guilt; Trust vs. Mistrust; Autonomy
vs., Shame and Doubt;

qIAH Fe1H gleddl; 9ol do1H 9 [92ary 9e0d 3fd2ard; Saadadr 9603
A 3R Heg

Trust vs. Mistrust; Autonomy vs. Shame and Doubt; Initiative vs. Guult;

Induatry vs. Inferiority
faRara 9= JfaaT; W@EAdr 998 U9 3N Tecg:; 98 Je T IR A
3. A e

4, ®



Industry va. Inferprity; Imitiative ve. Guilt; Autonomy ws. Shame and
Doubt; Trust vs. Mistrust.

HH A Bieidl; Ygel delld AWRI, TRAAT 9 F 3R dcg; faram
9H 3fd2a

Question Number : 7 Question Id : 6981773985 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Identify the INCORRECT statement relating to self learning
= e § gdfed ed Fad 9gdien |

Options :

self learning helps in learning at one’s own pace

T T A9-39ar ATd o e # g aidl ¢ |

self learning helps 1n strengthening the learning skills of the individual

T A cdfed & e & il H oo dolid 7 TgraS aidl 6 |

zelf learning helps in setting goals of one’s choice

T 39 afad & 39T 98 & oey Fuiila 39 & Igas giar ¢ |

self learning can only take place in formal educational set up

4vﬁﬁﬁwéﬂﬂmﬂﬁi¢mmﬂﬁmﬁﬁm§1

Question Number : 8 Question Id : 6981773986 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

One of the following is NOT an attribute of good facilitator in classroom

forafof@d & & ag weferer # e AT H 0T AL ¢ -
Options:
analytical thinking

difehes =iaeT
1. &

knowledgeable

AT
2.33

uze of little or no dialogue

G T 9gd FA A CREGEECEIGEETGI
3. v =

ability to bring people together

4ﬁﬂhﬁﬁrwmrmﬁfﬁrm

Question Number : 9 Question Id : 6981773987 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Language 1s not purely learnt by accident or conditioning and much of 1t 15
biological and species-specific. according to

Sefeh 3TER AN qUT $9 & gHedl A1 Feaee d A1 ddl S ¢ T SHa
sifererier ot Jfaw 3 yanfa fafee gar & -

Options :

1.4



Noam Chomsky

AT aTFEghr

Sigmund Freud

e waE
2. %

John Dewey

L, St ae

Lev Vygotsky
4 % oid argancgedT

Question Number : 10 Question Id : 6981773988 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

For ability grouping of students a teacher should consider

Ol & &N THge & folv [RIeTh T 3§ 9 1= &ar d@1igu -
Options :
gender

fefar

mdividual differences

aufades TaeAaBn
2.



roll numbers

$H TEAT3AT

physical characters

oI waToT
4, %

Question Number : 11 Question Id : 6981773989 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Shwetha has learned about the Mughal dynasty and then of Sultannate
dynasties. In the exam she could not answer a question on Mughal dynasty as
her learning of Sultannate dynasty was interfering. The type forgetting here s

a1 & HI AT & a) A dEr IR O Godad aeeg & AR A | 9T A
9 HICl WHST § AT YT FOIH AGH ¢ @ i SHA IHH Tedad
AT ¥ Gatad 39 arer e @1 o1 | gt faTHIr @ 9 ¢ -

Options :
Proactive inhibition

Qaﬁmmﬁaﬁ

1.

Repression

qHo
2. %

Dizuze



Betroactive inhibition

qaeamdl gEdaT

Question Number : 12 Question Id : 6981773990 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A student who knows to play piano has learnt to play kevboard quickly. The

transfer of learning here 1s

U [OTEr a1 arel @ J FI-al T oeel 4@ folar | Jgr ag AEeH
TAHMNT § -
Options :

Negative

1, % 2C

Bilateral

HAERIE]

Positive

ellcH
3. %

Zero

A

Question Number : 13 Question Id : 6981773991 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

1sconnection of Stimulus Response association 18
D t f St lus Respo t

3eaad 9fdfhadT & 3eETE U Tafed § -
Options :

Extinction

faerea

1.+ 7

Generalization

 OHHRLOT
2_%-5

Dizerimination

3. % HGHE

Spontaneous recovery

4w Too G

Question Number : 14 Question Id : 6981773992 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Identical twins Ram and Shyam differ a lot in their academic achievement. This

can be explained by this prineiple

W?W@mwﬁ?awﬁﬁfﬁmﬁﬁﬁa@m% | SHT ARG 39

foeuid & &1 o T ¢ -

Options :



Development 1s predictable

faere qaleTAeid &

Development 1s spiral and not linear

T Y @ afen aftor |

Development proceeds from general to specific responses

. g g o fafene gfafmast #3517 Tear £ |

Development is a joint product of both heredity and environment

4 o TOPTE STRIE ST iaTor gl 1 HgFT 3G § |

Question Number : 15 Question Id : 6981773993 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The concept of ‘private speech’ was put forward by
st s (s i) 7 R Sev T SRR v o -
Options:

Bandura

1. %

Lev Vygotsky

5 fetar ararticehT



Piaget

Chomsky

4'ﬁﬂmﬁﬁ

Question Number : 16 Question Id : 6981773994 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Thorndike’s this law of learning indicates the physical and mental development

of an individual to learn a subject

eIeEd H UG F Jg Heuid t& favg & dEe & o & s &
it 3 AW T S geiar § -

Options :

Law of Readiness

| TCIar F g

Law of Effect

qaTrg &7 o

Law of Exercize

I3y &1 HaH

Trial and Error

4w TR ST o7



Question Number : 17 Question Id : 6981773995 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
ICT helps

ICT @gras ¢ -
Options :

m equal learning among learners irrespective of their individual

differences

- ITEIHGAT & cafeFaard 3l & ardsie G ®9 8 e A
in learning for disabled students only
, x ac faer orl & dE 7
in self-paced learning
5 o T & e A
m learning of high 1@ students only
ddel 3od o ofedl drel facaiiar & dae A
4. %

Question Number : 18 Question Id : 6981773996 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

In this type of schools. scope for diversity 1s more

S G T groRmenst 7 fafaudr & asnser dfee gidr & -

Options :



special

ncluzive
AR
2.9
school meant for specific communities
ey ol & foiv garlt =t areemersit
3. % =
gender specific schools
) foiar fafeise greemer3t

Question Number : 19 Question Id : 6981773997 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Teachers should consider teaching asa/an
Teh 9% &I TRRTOT &l A THSAT dIig0 -
Options :

one time training

Ush 91 9TRI&Tor

one way communication

U gefr guwor



art acquired from birth, nothing to do with learning

el Sfed H HATold & Sl g @l 97 Fis Tael =11 gidr |

rofession which requires continuous learnin
P 1 g

4wwﬁﬂﬁﬁiﬂrmﬁrﬁwmam%|

Question Number : 20 Question Id : 6981773998 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Subject centred paradigm of organising learning can be more appropriate for

this level

S0 TR W @S & e &1 v Sfgd 9fdae sifeF s9ed ¢ -
Options:

Pre-school

1. % o

Elementary

qrertas
2. %

Secondary

AregiAs
3, %

Senior secondary

4 & 3= Arg#AS



Question Number : 21 Question Id : 6981773999 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Identify the correct statement
TEr FU JgdI=v -

Options :

one can have physical health without emotional health

frdr =offg & 9 sTacas wareey & f9er o gofa g a=dr 2

one can have a sound mental health without physical health

ford =aferd & 9/ IR Wy & e seor AEfas @ @
HHl ¢ |

to be healthy, individuals should have physical. mental. social and

emotional health as they are interdependent
T g & fov aafda & g o, a=fas, gmfee 3k aacas
TOTEE gl 3aed% g Faifh F 3=ai=aiad g |

emotional health depends only on physical health

qEcHS T sad ARG T W gl =R #ar g |

Question Number : 22 Question Id : 6981774000 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



Identify the correct statement in promoting democracy at school
qIGRATEl H clehdd bl doMdl ¢l H T«ed gl el Jgal=iv |

Options :

in taking the decisions by the school authorities, voices of the children

must be heard

v QTSRS TR gart HoTa ofd @4, 9=al & [9ur 36y o« 9@1igu |

in taking the decisions by the school authorities, the voices of the

academically meritorious children must be heard

QTG WAl carn =oi ofd §#, At §9 d Ay onl & [9ur
3T YAl AIRT |

authorities of the achool can take decisions on their own as they are well

educated

QISR & Wl & =01 of Hehd § Fiie 9 giferd § |

head of the mstitution and teachers can take decizions as they are trained

e & gure 3R Rets @y o g € Fi 9 wRifda ga €

Question Number : 23 Question Id : 6981774001 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Identify the INCORRECT statement with regard to the emotional development

HacAS [ o Taftid add $d gaav |
Options :

1. %



1t depends upon the experiences of an individual

Tg sdidd & 3eIsid o T3 Hear § |

1t 13 an outcome of interaction between heredity and environment

5 % Tg 3Tafhdl 3 9ATEROT & Heg 3d-Fhar 1 aRonH § |

it takes place automatically as per their age as it 1= totally dependent on

genetic factor
Ig Il HATAR Fc: gl Sl ¢ @i Ig 0T § 3eaieles HH 9T
3 o TR

1t 18 influenced by the socio-economic, cultural and educational factors

4w I arATfSs-3Te, aiepias 3T dfae Rt O ganfaa gar § |

Question Number : 24 Question Id : 6981774002 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Good teacher 1z one who
=T TRt 9g giar g Sl -
Options:

tallss continuously providing information

GOl 3cTeET heard gu feilal oid FIdT § |

1. %

tranzacts only textbook material and make the children by-heart it
heel TSATEAF A FT feddgel Far § 3R =l F1 38 T F v Fgar
¢ |

%

2.



makes the students get good marks by conducting practice tests

- 3T BT 1 AN Sl ¢ oiay o AT 39 9ed 4 ol

ensures the quality learning of the students

4JWWW3€@WW&WW?[

Question Number : 25 Question Id : 6981774003 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

One of the following helps the teacher in understanding the learners
FREa & @ ag Riets & ATERERanRt s gFsa J gaE gidl § -
Options :

both intra and inter individual differences of learners

| ST & siau R s dafaas Qe siae

mntra individual differences are adequate

3w dfedes 3iav 9T § |

mter individual differences are adequate

3 dufeds 3Hay 99d ¢ |

neither intra nor inter individual differences are required

L 3w 3 3R dafeds fav giar Fr SaaEar T8 ¢ |



Question Number : 26 Question Id : 6981774004 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

From among the following, identify that 1s acquired by birth

fHesfeii@d # ¥ Ig S=Had § -
Options :

attitude

EIEG T

1. % -

aptitude

feggdr

Interest

6|

habits

Question Number : 27 Question Id : 6981774005 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Personality 1s dynamic

fedcd JIfaeie ¢ -

Options :

1.



in all children

oofr =t &
\'.;‘/

only in out of school children

, ﬁa‘mﬂ%anﬂrﬁm%aﬁﬂﬁ

only in school going children

- shdel QIGRATe SAleT arel d=di &

only i merit children

4% shael HedT @ET &7

Question Number : 28 Question Id : 6981774006 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

A method that 1s useful to understand oneself based on one’s own experiences
39el ¥ JAHal & MR W TG0 H ATl F U I9GEN JUH g § -
Options :

Experimental

JARcHS

1. ®

Case Study

5 % ST T

3.¢



Introspection

rcATEToT

Observation

HacllehsT
4, %

Question Number : 29 Question Id : 6981774007 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Among the following, one of the following is NOT a purpose for conducting

evaluation of Class VII children
frrafafaa & @ 7g VIl & Fer & omt & AU 3T e S #7365
6l & -

Options :

suggesting the students to drop out from school as they do not have
required abilities to continue further studies

AT 1 Fhel BIZ Qo FT A ST FAIMF 3% I HeTT SIHT WA &

- folT g &/Hdr =g &

giving feedback for overall development of the students

ot & Tqut s & e afdgfe g |

revealing the aptitude to the students to choose future studies

- BET & GHT A6 AT & I3 & fow AT8AETar ghe FLEr



making the students understand about their interests

BET F 3aHT AT & I8 F GHST

Question Number : 30 Question Id : 6981774008 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In SQ4R technique of learning and memory. identify that 1s NOT the part of
4R’s.

frfafad 7 9 °g A8 3t ¥3fd #1 SQ4R Tl 7 g 4R's. FT 90T
T -

Options :

Repeat

Reflect
gfafafaa s

Beview

THIET FL=T
4, %
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ferfafad reanr 9fer | 9% I weel & 31-35 3W g |

ANTREF & Feicg 3R AEFRE F GATE FT ARG Fl A1 § | AP
F 3T F AT 7 o A T HEAF 30 9 91 ¢ 3N A Tow 7| 35
forer #eTsT &7 Sfiaet U YN § AT o 9GS & AT Hglel favEil Hearr &
HHE, T8 FEINGAT § FIg TG gl GidT| 37d: ARNEST 51 HIST Hl ARTRS
Ieflel & TOIU 3aeged § | HeraR & A § - @iicash g | g @R 3 A
ZaH 9T 39 Tl aagnt At Frf & fov giar § o 9T can g 3 st
arAIorR Rt 1 FPd #ar g | @A @ egaitud iR Tieg @ # o
SHh! JMERTRAT oIl § | 315 o dieww, I F FW, Tl B EEE o § A
| TG FGER AR A § | HEERE P TR GUaR F1 Q6T Fl aifge
FIfF 90 TATT A TG 30+ gidl & I TAS &7 &idr ois@sr ol ¢ |
GATST 3761 AU FI AGT-GFAT Al § &l AATe [ @ g6 S« # @Qgas
B & | 3 0T & IROT A AT 39H ARG I ago e 3R agsied
HE H UROT H Gl Gl § |

Sub questions

Question Number : 31 Question Id : 6981774010 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
ARTREAr § dread § -

Options :

- Feed T AFRT F1 Agea

- Faed 3T TR F1 g

3 @ Feaed HIT TOFRT &1 e

L Fied 3T JTERRT H1 Ioders



Question Number : 32 Question Id : 6981774011 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
AT & dfdd Ad & Siidel 1 qoar a8 @ S § -

Options :

AT & HEdS 3T o

1. %

Zdﬂmﬁwﬁﬁﬂ@mﬁ

, MW?WW#

4MW3ﬂTW$Fﬁ?ﬁﬁ

Question Number : 33 Question Id : 6981774012 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

3% Holea®d AN FEd-cdTd gf ordl ¢ -

Options:

GRUZIR

1.



. Aifcas =adgrl

A At

Question Number : 34 Question Id : 6981774013 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
aifcas cgagt 1 F8id ST+ v gidr 2 -

Options:

AT I 92ad Jollel & folw

1. #

5 w TS P TCET T F AT

AT $I FHHACH dellel & ol

3. ¢

L w A & fagad g0 & v

Question Number : 35 Question Id : 6981774014 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
A & O faee esg gaslt ared Ssr Ygaifae -

Options :



a3 - HoATdR A

’|_ F

> Higl - HHHIT

3 % edieed - Jeaaieerd

4 % A - gUdR

Sub-Section Number : 2
Sub-Section Id : 698177205
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Id : 6981774015 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (36 to 40)

Question Label : Comprehension



frafeifaa gegrr 9few | 9% 7w 36-40 weal & I UgdIeiv |

3 @ AT 9T g, § [ Fel 30 o 7 2
o =gt ofed & 39, &9 Feld JHI-HT F |
@ dieieh ehe ¥ &, el hEehr g1 a1 ?
diel TP aF e, fradr faseafa s 2
FYAT R AT §, W IaaT o 3nmar § |
ST WHET &1 AT, S 3Er O S g |
AT dg o Sifdd g, [Sad S5 gor-fasha ¢ |
99l H3als Jgl §, Je-eY & HIH ¢ |
gdol & Hgol AT, IUOT9 FAT @M S,
4Rt & & Al &+t e H@ar aeudr |

Sub questions

Question Number : 36 Question Id : 6981774016 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

3ig & A qdien ¢, ¢ [ Fg1 38 o9 7 ? 3W Ul & Al Hid gg aqme
e ¢ -

Options:

1 ﬁﬁ“ﬁq\mﬁ@mqﬁamﬁl

2¢3ﬁ?{€:ﬁ|ﬁﬁﬂﬂﬂﬁﬂﬁ?ﬂﬂﬁﬂﬁﬂ3ﬁ%l

- HEY § 3, WS S g

. HEY A 319 31 51 et 9dlieTd §



Question Number : 37 Question Id : 6981774017 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
= 7 ¥ Ted Fua qgafan ?

Options :
- TOT & 30 AT o9 8T ¢ |
- Jerellell eafed & sifad 1§ 9Fdr ¢ |

3wmw$mﬁmwﬂﬁﬁl

. O W@rEg &1 fEag g

Question Number : 38 Question Id : 6981774018 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
HAH R AR & | Wi g F 94097 30 faw g3m g 2
Options:

o

1. %

fRIfe R
2. %



Question Number : 39 Question Id : 6981774019 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Sidgrd Sieldm & -

Options :

| A A

celeT T TgSiar i
2. %

- AT HT ARGHAT I

4 v TOTE & EIE

Question Number : 40 Question Id : 6981774020 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
qeie H AL AN § -

Options :

3 3R 99T T Aged

1. %



qed 3T ufFd 1 #ga
2.

- HUAME 3R 94278 & JAged

4HEFT3ﬂT€ﬂ?ﬁ$Fﬂ%EI

Sub-Section Number : 3
Sub-Section Id : 698177206
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Number : 41 Question Id : 6981774021 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
a1y H cdled gdil T wfaar % -
Options :

9T TORT 2T

1. %

calgrl =T T

2.

s fge o1 & foardr

4. ®



Question Number : 42 Question Id : 6981774022 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Fl HET ¥ § — Fd ¢ | Rad w1 9fd & a0 @8t @Feq ¢ -

Options :

Question Number : 43 Question Id : 6981774023 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
eI &l Siideishrel el STl @ -

Options :
1555 & 1623 d%

1. %

- 1500 & 1600 d=



1532 & 1616 %

1532 & 1623 T
4.

Question Number : 44 Question Id : 6981774024 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Todl FRTT & 91 Gdd 916 ¢ -

Options :

ararery 9re
1. %

IFELGG RG]
2. %

Feldl 916

foraer urs

Question Number : 45 Question Id : 6981774025 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
T 7 4 ug <faar 9 g1 ¢ -

Options :



1.¢aﬂﬂfﬁi€rr

(=) FT IR T Tl |

3R 9z 3 Ted g

Question Number : 46 Question Id : 6981774026 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
3¢ &S 9T WMecd [EPRT § AT fohar I/ o -

Options :

| w fafaE T

5 o OTETET TE

Question Number : 47 Question Id : 6981774027 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
39 Ri@d arerr ¢, 99 AGaT arelr 4 | FCr Ueq H WIS HAT § -

Options :

1.33@%33133?

Question Number : 48 Question Id : 6981774028 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Gefl &1 @rr ¢, el ol 3Td gu | @ik odeg & 3§ -
Options :

1.8 W



Question Number : 49 Question Id : 6981774029 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

G, AAS 3R A ARG U gl — 99— el | Red we &
qfct & forw @@t fased § -

Options :

I, A
1. ®

&, &
2. ®

Lo W@

o, A
4, %

Question Number : 50 Question Id : 6981774030 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Higel Bel WAl § | aed H ‘Fa Tad Aq, § -

Options :

1w Hed

2. %



Question Number : 51 Question Id : 6981774031 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

9RT U 8T § | Tgr — HISTC aiel Sl ¢ | Read T & qfa & o W@ifera
e, & TgT Taeand® § -

Options :

Question Number : 52 Question Id : 6981774032 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
‘el T FHAT GAr AT F FEOT FqgE g -



Options :

_— Tl 91T o gier

o Tl AL Hiel

T - |1 HE WAt T§ ST

ol OT a1 =T

Question Number : 53 Question Id : 6981774033 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

“algl arg! Fhad 3 R § 17 IF a9 | -

Options :

g % (ST

Question Number : 54 Question Id : 6981774034 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

eI SHAATAT a/Fd ggdlfelU -

Options:

. T AR T H 3T ¢ |

- 3l gAN I H § U |

gﬂﬂﬁﬁ‘ﬁ?ﬁﬂiﬁmﬁl

Jld A U § 3 gAN |
4, %

Question Number : 55 Question Id : 6981774035 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

g &, TRAgAER T § -

Options:



Question Number : 56 Question Id : 6981774036 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

quit &l IR[EMEAT & 3idd ot # | Ig 3elazdes qui el el &
ST &-

Options :

Feded

Question Number : 57 Question Id : 6981774037 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
YEH 31eAT9e Juiell # faferse il & 3a & FRoT B ot 9

= R | a1 @ 9t & AT F@@r AheT g |
Options :
LJaﬂﬁEﬂTaﬁmﬁ’r
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Question Number : 58 Question Id : 6981774038 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

FEA fafer ganr wied foRaT I A S & AT A HEIG RN EED

ot & fre w8 fpew & -

Options :

FEmT

Question Number : 59 Question Id : 6981774039 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 1 Wrong Marks : 0
TST FaTT & Taegrerdl & folv 9Iog-GEde 1 3Ma0T VAT glel gy -

Options:

e

arer 3T FercHs

GIfaEm 3R FHernglet

Question Number : 60 Question Id : 6981774040 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Options:
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Language II English

SectionId : 698177127
Section Number : 3

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 26
Number of Questions to be attempted : 26

Section Marks : 30

Enable Mark as Answered Mark for Review and

Clear Response: Yes
Maximum Instruction Time: 0
Sub-Section Number : 1
Sub-Section Id : 698177207
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Id : 6981774041 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (61 to 65)

Question Label : Comprehension



Read the following passage and answer the questions from 61-65. Choose the
correct option for each question.

One cannot forget the joyfulness of one’s childhood. Childhood is the stage of our
life in which the smallest of things gives immense pleasure. Clildren often do not feel
happy with costly things if 1t does not arouse any curiosity i them. If we remember our
childhood days. we can say. we were happy with things which we could collect on our
own, be it a piece of copper wire or a pebble or some caps of bottles. We were often
ready to play with our friends without knowing that we were learing a lot through those
plays, toys and games.

Now, that beautiful phase of our lives which we have walked past comes before
us when we observe our children as a teacher or a parent/guardian or a caregiver. As we
did 1 our childhood. our children also love to create boats and aeroplanes from paper.
They like to take rides on a tricycle. enjoy splashing water. try to catch soap bubbles,
love the company of pets, play with colourful toys. and get engaged with board games
and electronic games for hours.

Sub questions

Question Number : 61 Question Id : 6981774042 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The following one 1s NOT mentioned in the passage.
Options :

piece of copper wire
a pebble

2. %

a smart phone

4 % CAPS of bottles



Question Number : 62 Question Id : 6981774043 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

*That beautiful phase of our lives which we have walked past comes before us...".

The beautiful phase refers to
Options :

1 & childhood

5 % adulthood

P acher life

parenthood
%

Question Number : 63 Question Id : 6981774044 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Children often do not feel happy with costly things because

Options:

they are very costly.

they do not spark any curiosity.

they are bought by the parents .



they spark curiosity.

Question Number : 64 Question Id : 6981774045 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The smallest of things gives immense pleasure. Pick the meaning of the word “immense’.
Options :

1 = lttle

uny
. u p L

tiny
3. %

huge

Question Number : 65 Question Id : 6981774046 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

As per the passage the following statement is correct.
Options :

Adults like to take rides on a tricycle.
1. %

We were eager to play with our friends, knowing that we were learning a lot from

5> % those games, toys. and plays.



Children are fond of making boats and aeroplanes out of paper.

“ Children often feel happy with the costly things.

Sub-Section Number : 2
Sub-Section Id : 698177208
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Number : 66 Question Id : 6981774047 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

We had many apples to carry.

Complete the sentence with correct option.
Options :

1.« oo

5 % 10

Question Number : 67 Question Id : 6981774048 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
We can reject the unscientific and unethical nature of customs and traditions.
Choose the opposite meamng of the word ‘reject.”

Options :

| % Oppose

5 % disown

3 % challenge

accept
4. &

Question Number : 68 Question Id : 6981774049 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Identify the part that contains an error in the sentence.

Most of the house in the village are verv well planned.
A B B D

Options :



Question Number : 69 Question Id : 6981774050 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

We should to the next item on the list.

Choose the correct option to complete the sentence.
Options :

Move Ofl

mowve to

, move of

move by
4, %

Question Number : 70 Question Id : 6981774051 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Choose the option that best expresses the meaning of the idiom *Call 1t a day’.
Options:

Celebrate the day.



Get out of control.

3 ! Iy patience has run out.
E

Stop working on something.

Question Number : 71 Question Id : 6981774052 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Choose the correctly spelt word.
Options:

acknowledjment

akenowledgment

acknowledgement

acknowledgmint

Question Number : 72 Question Id : 6981774053 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



The Marina Beach i1s beach in India.

Choose the correct option to complete the sentence.
Options :

1% a longest

5 % an longest

3 % longest

the longest
4. g

Question Number : 73 Question Id : 6981774054 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

We should how to say ‘No’ without hurting others.

Fill 1n the blank with the appropriate word.
Options :

1 ® DOW

5> know

3 % 1o

knew
4, %



Question Number : 74 Question Id : 6981774055 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Pick the correct sentence.
Options :

It 15 an beautiful flower.

My mother was a teacher.

Children need an lot of sleep.
3. %

I need a umbrella.

Question Number : 75 Question Id : 6981774056 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

The violin 15 being played by Radhika.

Select the active voice sentence.

Options :

Radhika playing the violin.
1. %

Radhika has been playing the violin.
2. %

Radhika 1s playing the violin.



Radhika was playing the violin.
4, %

Question Number : 76 Question Id : 6981774057 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Shravan said, ‘I want this mobile phone.’

Choose the sentence 1n indirect speech.
Options :

Shravan said that he wanted that mobile phone.
1.9

Shravan said that I wanted that mobile phone.
2 %

. Shravan said that he has wanted that mobile phone.
3. %

Shravan said that he had wanted that mobile phone.

Question Number : 77 Question Id : 6981774058 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

This 1s the same lorry ran into the roadside shop yesterday.

Fill in the blank with the appropriate option.

Options:



what

2 that

this
e

4 % Who

Question Number : 78 Question Id : 6981774059 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

My friend prefers coifee tea.

Fill in the blank with the appropriate option.
Options :

1 % from
than
W

1o

between

Question Number : 79 Question Id : 6981774060 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Choose the correctly punctuated sentence.
Options :

The weather this Winter, has been windy. wet. and unpredictable.

The weather, This winter has been windy, wet. and unpredictable.

3 % The weather this winter has been, windy, wet, and, Unpredictable.

v The weather this winter has been windy. wet and unpredictable.
4, %

Question Number : 80 Question Id : 6981774061 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Whatever he says has so truth.
Pick the suitable word to fill in the blank.
Options :

more

1. %

5 much

manny

maost
4. ®



Question Number : 81 Question Id : 6981774062 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The train was thirty minutes

Fill in the blank with correct option.

Options :

lately

5 % latter

3 ¢ late

latest

Question Number : 82 Question Id : 6981774063 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The work must be finished Friday.

Pick the suitable option to fill in the blank.
Options:

bv
1.4 ~

from



bye

i

Question Number : 83 Question Id : 6981774064 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

This art craft 1s by the students.

Pick the suitable option to fill in the blank.
Options :

made
1. ¢

malke
2 %

makes
3 %

making

Question Number : 84 Question Id : 6981774065 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



“Is 1t okay 1f I use your computer for a minute?”

This sentence mndicates

Options :

oranting pPernuission.

ordering.

asking for permission.

refusing permission.

Question Number : 85 Question Id : 6981774066 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
‘My English World’ 1s the title of

Options :

. English handbook for teachers.

., Programme designed for the children.

English text books of primary level.

. English online course for the teachers.



Question Number : 86 Question Id : 6981774067 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

‘LAD’ stands for

Options :

Language Acquisition Device,

Learning Acquisition Device.
2. %

Language Auto correction Device.
3. %

Last Accuracy Device.
4. %

Question Number : 87 Question Id : 6981774068 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Identify a discourse and assign a task to construct 1t. This task 1s part of

Options :
Silent Reading.

1. %

Pre-Reading.
2. %

Post-Reading.
3.¢



Extensive Reading.
4, % -

Question Number : 88 Question Id : 6981774069 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The following is a feature of ‘Student Centred Learning.’
Options :

Teacher is not a co-learner along with students.
1. %

Student learns in 1solation. not in groups.

Student’s participation in all the learning activities will be encouraged.

Assessment is done only by teachers.
4. %

Question Number : 89 Question Id : 6981774070 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
The following is known as ‘Magnacarta’ of Indian education during British rule.

Options :

“ Hunter Commission

Wood’s Despatch
2. ¢



Sadler Comumission

Raleigh Commission

Question Number : 90 Question Id : 6981774071 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The following 1s NOT a tool of formative assessment in English at Primary School level
in Telangana State Board.

Options :

Observation

Project work

2.

Slip test
3.

Experiments
4, &

Mathematics

Section Id : 698177128
Section Number : 4

Section type : Online



Mandatory or Optional : Mandatory

Number of Questions : 30
Number of Questions to be attempted : 30

Section Marks : 30

Enable Mark as Answered Mark for Review and

Clear Response: ves
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 698177209
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Number : 91 Question Id : 6981774072 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Ramana started watching cricket match at 9.30am in the morning. He watched

TV for 220 minutes. He stopped watching TV at

T o Wid: 9.30 @ TV # Trdhe #A9 ¢@ar e fhar 309 220 &9 aF TV
&@r o 384 =8 8T TV &@elr 9 fhar

Options :

1.50pm

1. %

12.10pm
2 %

1.10pm
3. ¥

12.50pm
4. %



Question Number : 92 Question Id : 6981774073 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

The number of three digit numbers having the same digit in the units and

hundreds place is:

fohcel T Jaf o6 e # 335 3 A3 & T W JA7 3% ¢ |
Options :

9

1_%5

90

180

60

Question Number : 93 Question Id : 6981774074 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Dafference of the greatest and smallest five digit numbers formed by

digits 3, 0. 5, 2, 8 1s

3.0.5,2 8 HEa3i & aefel arell 9id Ugl arell Had 431 Hedn 3R Had sl
& & #3293

Options :



64962

65972

64038

Question Number : 94 Question Id : 6981774075 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Ravi's age is 9 years. His father’s age 1s thrice his age. The ratio of Ravi's age to
his father's age after 3 years 1s

a3 9 a¥ g, 38+ Mar & 3y 366 31y A faeeh €, de b geara da
3R 38 a1 3 1 3 g -

Options :

31

—
]
LN



Question Number : 95 Question Id : 6981774076 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Satish wants to plant trees to cover his square field completely, then the number

of plants required are

HART 319 PSR W B BTG J FH{ S digal ¢ ol 38 Thasl gail b
G CERETS IR}
Options :

360

464

Question Number : 96 Question Id : 6981774077 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Leap vear among the following is
Ao slaarg ?
Options :

2022
1. %



2042
2012

2002

Question Number : 97 Question Id : 6981774078 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

The next number in the series 4, 8, 24, 06, 18

4,8, 24,96, _____ AU FT 3T TEAT

Options :

192

480

Question Number : 98 Question Id : 6981774079 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



The difference between place value of 3 in numbers 43.26 and 4.03 15

43.26 3R 4.03 FEBT A 3 & TARE FAedl F IR
Options :

2.97

Question Number : 99 Question Id : 6981774080 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The HCF of 8. 56 and 60 1s

8. 56 3 60 =1 HgdA @AM (HCF)

Options :



Question Number : 100 Question Id : 6981774081 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following numbers will not divide 312792 exactly?
312792 wiean i W wEar ¥ qoid: fasfsid «igr giar?

Options :

6

L]

[t

Question Number : 101 Question Id : 6981774082 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Anil's school is 670 meters from his house. One day he left home and walked
215 meters. Then he realized that he had forgotten his science notebook. He
went back to home, collected the notebook and went back to school. The distance

travelled (in meters) by Anil on that day for going to school altogether 1s

3tfetel &1 Fpel T & 670 HieT g¥ & | U &7 ag w0 & 215 Hieq =er et 39
T, 3R T ag A & dic 9% 9o 97 § | 98 99" 2 I 3R Al 9% o
HT A0 Thel TG ol 39 foet Jifeler el WG & forw et e #iex T ?

Options :

883

1100
4.

Question Number : 102 Question Id : 6981774083 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



It 15 a four-digit number. The digit in thousands place 1s largest single digt.
The digit in the ones place 15 smallest natural number. Sum of even prime and
smallest odd prime is in the hundreds place and even prime number is in tens

place. The number 1s

g U IR JHPel §E § | §aN & LW W §99 99 E § UE 9G4,
SIS TA FI 36 TiHlas TN # T8 BT 1 ¢ | UFs & T W T &6
e 3R g9y o A g & g A g e W oae e e
& ¢ -

Options:

0320
1. &

Question Number : 103 Question Id : 6981774084 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
10000kg expressed in quintal as:
10000kg T fFaeece # -

Options :

| » 100



10

1000
E

Question Number : 104 Question Id : 6981774085 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

100 Iiters of milk 1s packed into 250 ml packets. The number of packets made 1s:

100 forex gu &1 250 ml & arfenel # O fRar = A ifshel fa @ear gl -
Options :

4

1. %

400

40
3. ®

]
L]

Question Number : 105 Question Id : 6981774086 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



The number of factors of 18 are:

18 & @vsl & g

Options :

4
1. %

Question Number : 106 Question Id : 6981774087 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The product of two fractions is 6. If one of them is Sg. the other fraction 1s
o feett o7 AT 6 ¥, S & U 5= ¢ ot qEa fakeet g -

Options :

9

10



Question Number : 107 Question Id : 6981774088 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

An angle more than 0° and less than 90° 15 called as

gg FIoT o 0° W fEer 3T 90° @ FH 1 S0 Fed & |
Options :

Obtuse angle
3Ter IoT

Acute angle

% Lol

Right angle
H Hi0T

Reflex angle

gfafaa o

Question Number : 108 Question Id : 6981774089 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0

—_—

V324 =

Options :

Question Number : 109 Question Id : 6981774090 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
5% of 60 1s

60 =T 5%

Options :

[ 5% ]



Question Number : 110 Question Id : 6981774091 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The angles of a triangle are in the ratio 3:4:3. The largest angle of this triangle
18

Uk TAS[T & FION T 3ot 3:4:5 ot 39 Fgel 7 927 HIo7 § -

Options:

Question Number : 111 Question Id : 6981774092 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

A speed 20 m /sec 1s expressed in km /hr as:
a3 20 A 1 TS H cgad F W -
Options:

’I.«'-/?E



Question Number : 112 Question Id : 6981774093 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
The value of p. 1f 0.5p = 0.065 1=
gfg 0.5p = 0.065, T p & AT

Options :

Question Number : 113 Question Id : 6981774094 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



The total surface area of a cube 18 54 sq.cm. Then, the measure of its each edge
(in cm) is:

U e o YT el I &1l 54 99 WAL T 30E Jodh han v A
A, & -

Options :

25

Question Number : 114 Question Id : 6981774095 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The arithmetic mean of first five composite numbers 1s:
SAH 9T TIFT TEABI HT HEGHAA

Options:

_l:'_]"-.
I'_"Jl



Question Number : 115 Question Id : 6981774096 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

“A student applied the knowledge of ratio and proportion in understanding the
concepts of time & work and time & distance”, then the academic standard

attained by the student 1a:

T OF A §AT AR F AR W AR QU 1 RO F §He 7 e
AR FAT & A F AN AT o o ga e dfeTd A9GS §

Options :

Problem solving

HHAT JHATETT

Reaszoning and proof

a% Td SHOT

Communication

E.QI

Connections

4, U

Question Number : 116 Question Id : 6981774097 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Arrange the following steps of the project method in a sequential order.

Yieigre fafe & HeaAfafad =il &1 HiAe A cgafead &1

A) Planning the project

IRASAT T ATAAT Tl

B) Creating situation
Refa =
C) Reporting the project

IR T ST FHLEAT

D) Explaining the objectives

3caRdl I Ul L=l

E) Executing the project

I & FaeadeT

Chﬁ ose the COrYect answer.

el 3 & TAA FY
Options :

AD.BEC

1. %

B,D,AEC

B.AECD

AE.D.B.C

Question Number : 117 Question Id : 6981774098 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0



Correct Marks : 1 Wrong Marks : 0

Mateh the following concepts to be taught with most suitable teaching learning

material:

fG@rEst arell fFrfefad sauronst # s 39ged Refor e qm &
gAfeld FfaT |

Concepts TLM
i
A)  Percentages 1. Solid geometrical shapes
‘Jﬁalﬁ a_\':f A f‘l 3@%
B)  Types of triangles 1. Grid paper
Bost & 9 fis 9w
C-j Number of edges of basic shapes 1. Abacus
7l ST & foRetil 1 g EiEC|
D ER TS
D} Decimal numbers 1. Gegboard
gR¥Acd TET forar 9
Choose the correct answer:
el 3aY 99 &
Options :

A-m, B-1, C-1v, D-11

A-11, B-iv, C-1, D-11

2. &

A-111, B-iv, C-11, D2

A-1v, B-m, C-1. D-u
4. %

Question Number : 118 Question Id : 6981774099 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Identify the advantages of the unit plan among the following:

fr a7 sF5 Iar & aEl H g L

A) The unit can be completed within the allotted time.

afde # mafed T % oficw T R S weRar §

B)  All the topics in the unit can be taught sequentially.

SIS & Gl fawal &f HHAs §9 d J6M@T off Thdl &

C) We can know which unit is to be taught in which month.

§H A Hhd ¢ & g Afg Fia @ 39 JeE 6 §

D) The teaching and learning materials required for the unit can be provided.

SIS & folv JaRaes RIeor i drEer & Gl 396 gl dl ¢ |

Ch{}GSE the correct answer:

e 30 989 H
Options :

C & Donly
shaet C & D

A B& Ci}lﬂy
dad A, B & C

A, B & Donly

dad A, B & D
3.¢

AB.C&D

Question Number : 119 Question Id : 6981774100 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Read the following statements related to evaluation in mathematics.

A & Heised @ Hated o=t folf@d w2 96

Statement-I : Assessment for learming and assessment of learning are
mvolved in continuous comprehensive evaluation.

P - | e & fAT Aeide 3R Waa 1 Jedibad Tdd AThac i
H AT § |

Statement-II : Continuous comprehensive evaluation involves formative

assessment and summative assessment.

e - I { {Ad NS Hedihe A AT el IR OrrecAES
Hedichal AAA § |
Choose the correct answer:

el 39T FT TIT L

Options :

Statement-I is false and Statement-II 1s true.

el - | 318cg 3T FeT -l 3.

Statement-I is true and Statement-11 1s false.

FeT - | I 3T FeeT -1l HEca.

Both the statements are false.

glAl & HI.

Both the statements are true.

alell e acd.
4.



Question Number : 120 Question Id : 6981774101 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

If a topic 1s divided into several parts and spread in different classes as per the
dafficulty level of the content, then the approach adopted 1n mathematics

curriculum 1s:

afe; el fawar & ol & Fioes Tov & ITar w5 HE A s kR S
¢ 3R fafslest et A e Srar § df AT IIedsA H YA SAle drell
efSeahioT §

Options :

Topical approach

1ﬁﬁmﬁfﬁi‘w

Concentric approach

T

2. ¥

Inter disciplinary approach

3 HWWWE‘W

Teacher centred approach

Environmental Studies
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Question Number : 121 Question Id : 6981774102 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

The nutrients which are required by the human body in very small quantity

among the following are

frfofad & @ 3 4w ded § o A R F a5 A A A TRl
gl @ |

Options :

Carbohydrates



Proteins

Gt

Minerals

@fetol

4,

Question Number : 122 Question Id : 6981774103 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

A flower that has both androecium and gynoecium 1s called as
ag Dol foiHA YHET Ud ST gl 9 S @ |

Options:

Incomplete flower

e G

Unisexual flower

Tehiciall goq

Bisexual flower

Fargfeiaft goq

Staminate flower

wiAse goq



Question Number : 123 Question Id : 6981774104 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Jams and fruit juices are preserved with

Aed 3R el & T 3EA @i BT S §
Options:

Salt

oHch

Sugar

Arhd

Honey

Aga

Ol

Question Number : 124 Question Id : 6981774105 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

As we go upwards in Troposphere layer of Earth’s atmosphere, the temperature

will

oIG-o1 g QAT & argHEse I afHASH W A S Al I S0, A

Options :



Increases

qedl & |

Decreases

FT BT ¢ |

Remains same

THI Bl ¢ |

Constant

o WwEar ¢ |

Question Number : 125 Question Id : 6981774106 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

The first hour after the accident 1z known as
gl & dIG Jgell HeT &gl g |
Options :

Critical hour

fehfeeher HaY

Silver hour

fAear 3aT



Saving hour

3. %

Golden hour

dMesd el
4. &

Question Number : 126 Question Id : 6981774107 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The future energy resource among the following
T & FHoll aATeT = &0

Options:

Water

Petrpleum

qelferaA

Natural gas

w\;nfﬁrfa‘m



Question Number : 127 Question Id : 6981774108 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The largest organ in human body among the following
AT & AL T Fa T27 3T

Options :

Bone

Small intestine

BIET 3

Skin

Question Number : 128 Question Id : 6981774109 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

World Water Davy 1s held annually on

faeg oo feag gfaay smfsa R sar &

Options :



2274 January

22 Sidair

11t April
11 3tde

22074 Narch

22 A

118 June

11 5

Question Number : 129 Question Id : 6981774110 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Earthworms breathe through their

FIT S ATHA ¥ A oA ¢ |
Options:
Skin

1.4

(rills



Lenticels

.
y | TSI

Stomata

4.5"51—1&T

Question Number : 130 Question Id : 6981774111 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The plants with fibrous root system have leaves with
PER <2 9uTel arer gtelt F 9faat gidr & |

Options:

Parallel venation

1¢Wfﬂ¢rﬁm

Horizontal venation

wﬁﬁlﬂf‘ﬂ?{ﬁﬂm

Beticulate venation

SeiigR Rufasarg
3.

Branched venation

, » ifEd i



Question Number : 131 Question Id : 6981774112 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

The following disease 1s caused due to particles of mercury

9 & U & HROT RAEAff@a W1 3091 g1a £ |
Options :

Minamata

fAaATHIET (A1)

Pellagra
YelTar

Diarrhea

atd

Covid-19
Ffa=z - 19

Question Number : 132 Question Id : 6981774113 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Identify the gas cauzsed Bhopal tragedy among the following

IO ATHET T HHUT Jefed dToll T T 9garT &L |

Options :



Ammonia

AT

Hydrogen sulphide

zﬁmﬁaﬁﬂm

Methyl Isocyanide

Jﬁ#ﬂrﬁﬂmﬁm

3..

Sulphur dioxide

el S-3AEs
4 %

Question Number : 133 Question Id : 6981774114 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

From among the following. the states that come under the Western Zone of India

are

T & @ 9ng & ufewed &9 & 3= el TS -
Options :

Gujarat. Rajasthan, Goa and Maharashtra

1 wmma . TTSTTIT, 14T, FHIST

Gujarat, Punjab, Himachal Pradesh and Maharashtra

- I, Goit, gl el HGHISE



Maharashtra, Goa, Jammu & Kashmir and Rajasthan

. HERISE, M4l 553 Ud HA, Teier=
3.

Maharashtra, Jammu & Kashmir, Rajasthan and Gujarat

4% HENISE, ST Ud AR, [T, T 0d

Question Number : 134 Question Id : 6981774115 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Identify the true statement regarding the Longitudes
ST & GaeT 3 HEY FusT g

Options :

There are 90 longitudes on either side of the 0’ longitude

0" Gelick & gl=il 3T 90 g ¢ |

The 90° East longitude passes through Greenwich
90° 9l SR AMeAfad & gl AR ¢ |

180° East/West longitude is also known as International Date Line

180" 9&i/aTead Gelea &1 fecisery fafer {@r off &gr Srer ¢ |
3.

The time difference between two consecutive longitudes 15 5 minutes

& TEaR SRy & g & AT a7 5 A €



Question Number : 135 Question Id : 6981774116 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
From among the following. the two main rivers originated in the Western Ghats

of India are

AR & qiEEH G fwes arell o yH@ Afedr
Options :

Narmada and Tapti

. eer 3T arcdr

Mahanadi and Godavari

. FEeTar 3 el

Erishna and Narmada

- FuuT 3 T G

Erishna and Godavar

oo 3R FgEd

4. &

Question Number : 136 Question Id : 6981774117 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

These minerals are required approximately in the ratio of 4:2:1 to make steel

T deliel & [ 37 @idall $1 3aededr 4:2:1 & 3&9d H gl ¢ |



Options :

Iron-ore. Cooking Coal and Lime Stone

v cilg-31aE, Wiell Jeilel arel el 3T Fol H Ie2

Iron-ore. Manganese and Lime Stone

- cilg-31a%h, Harellsr 3 T & g

Cooking Coal, Iron-ore and Manganese

- @IAT JeAleT dTell HITel, dlg-3aEh, HaereT

Aluminum. Iron-ore and Lime stone

TefATATA, wilg-31eF U9 g FT TR
4. %

Question Number : 137 Question Id : 6981774118 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

During the period of Mahajanapadas, ‘Bhaga’ refers to
HeToT=TIel & el H “gem f&ha g2iar & 7

Options:

The chare of the farmer that was equal to 5/6% of the crop

fohare & femar O & 5/6 #H1ET & SUET

1. %

The share of the king that was equal to 1/ 6t of the crop as tax

gﬂq?WﬁﬂﬁTHmW?“ﬁﬂmﬂTm



The amount of tax to be paid to the king by the Grihapathis for

cultivating the land

HHA W Gl e & ToU gl Ga@rt el H & S drell & $H T1RT
3. %

The amount of tax collected and repaid to the king by the Gond Patlas

. A1s el @Rl ST H UHEAT L ghls Sl drell L 1 iy

Question Number : 138 Question Id : 6981774119 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
This Mughal Emperor granted Robert Clive the right to rule Bengal
SH HITel FATC o Yd¢ Felled Dl STl W ATHA FLe &1 ISR a1
Options :

Bahadurzshah II
- dgigieng 11

Shah Alam IT

S v 2Mg-3Terd 11

Jahandar Shah

STglcY 2AG
3, %

Akbar I1

4w PRI



Question Number : 139 Question Id : 6981774120 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

From among the following. this turned out to be the first all India struggle
against the British Government although it was largely restricted to cities
ferrafof@a # & 7 ffeer SR & f@ern ggen i@ AN e @fad ga,
gelllh Jg FIHT §G b UEU o & WAd O

Options :

Swadeshi Movement

acel icios

Vandemataram Movement

. ! |

The Rowlatt Satyagraha

{elc acag
3. ¥

The Non Cooperation Movement

Question Number : 140 Question Id : 6981774121 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



By the time the British East India Company entered India, the Portuguese had

already established their base in this region of west coast of India

i fafeer S¥e 22 vl & T A A T o o giciamell kA & dfeas
e & 39 &1 # =T 3T TAT & T o |

Options :

Calicut

FITelhe

1. %

Mangalore

2. % Tarel

Bombay

Question Number : 141 Question Id : 6981774122 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Among the following, the true statement regarding the State legislative Council

of Telangana 1s

derene Tg [ ufive & ey & gcg Fo T 9gaeT $ |

Options:



It consists of 60 members

SHH 60 &I Bid & |

The Governor nominates 1/12™ members to the State Legislative Council

T9Te T faers 9fwg & 1/12 Geadl & A4 #4dr g |

The State Legislative Assembly elects 1/3™ members to the State
legislative council

T faenet @ Ueg et gfiwg & forw 1/3 weedl & 997a &Y § |

The members of the Legislative Council are elected for a term of 5 years

faure uiwg & #ge 5 a¥ 1 safd & fo oo oid |

Question Number : 142 Question Id : 6981774123 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

From among the following. the two acts passed by the Government of India for

the protection of Children are

frfof@a & & Tt & geaT & fov sig @R canr Titd & sifdfaas
Options :

The POCSO Act, 2012 and the Juvenile Justice Act, 2015

POCSOaTea 2012 3t it =g sifEfems 2015
1.4



The POCSO Act, 2012 and the RTI Act, 2005
POCSO 3feafeas 2012 3t RTI meaf=ad 2005

The RTI Act. 2005 and the Juvenile Justice Act, 2015

RTI sififema 2005 3R TR =arg sifEfms 2015
3. %

The RTI Act.2005 and the Nirbava Act. 2013
RTI sTEfeeT 2005 3iv Fnkr sfaEas 2013

Question Number : 143 Question Id : 6981774124 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Identify the correct sequence of the given temperatures in the ascending order

oy I AT T TG FA R FA F RAET

(12°c,-16°C,29°C, 0°C, 1°C, -1°C, —4°C)

Options :

PE.—1C.IC A1 L. 160 79€C

1, %

—16C, —4C, —1C. 0C, 1C. 12C, 29C
2.
- —1°C, —4C, —16C, 0°C, 1°C, 12°C, 29°C

20C: 12°C.1C 0C 1€, —40C, ~16C
4. %



Question Number : 144 Question Id : 6981774125 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In India, ‘Anthyodava Cards’ are 1ssued to these people

AR H 2 @3l @ 3icdigd s ol 68 & & |
Options :

The poorest of the poor families

gy 30T 9RaR

Agricultural Laborers

dicgt #Hsigl

Below Poverty Line people

T Y@ q = & el

Senior Citizens living in the rural areas

ITHOT & AT H g diel diise ARIE

Question Number : 145 Question Id : 6981774126 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



In Telangana EVS text books, the captions like “Look at the picture — think and
say”, “Think and say”, Discussion in groups” represents mainly this academic
standard

clefamtell EVS diad el # “fa i 2@ - Al 3N g, “wegl A T Ay &9
U 30 e AIEs F e ¢ |

Options :

Conceptual understanding

darfe aasy

1. %

Questioning and Formulating Hypothesis

Jqﬁﬂmﬁwmm
2..z

Experiments, field observations

- 9T, &Y dcileT

Information skills, projects

AT PIRAer, TRASTATT
4. %

Question Number : 146 Question Id : 6981774127 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A vear plan for a particular class should be prepared for the remaining working

days by deducting the following

foFdT et 99w & v 9 1 feadl & ot die=n Heafad 1 gee
T AIfET |

Options :



School Working days in the academic yvear

AT o o T FR R

World environment day

faeg gataoT igag

Natignal science day

e faa fgad

Working days required for Inservice training

darareld giRletor & v saas # tag

4. &

Question Number : 147 Question Id : 6981774128 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following activity best suits for teaching “different types of houses,
Post office, Banka™?
frrfafad # @ @i @ arfafafer fafsiet o, Serad, dt 1 9ol & v gad
S

Options :

Real Objects Activity

1ﬁaﬁﬁ$aﬂﬂ%ﬁf@



Chart Activity

are arfatafe

Fieldtrip Activity

&1 FHoT A
3. ¢

Picture card Activity

[EERCRERIGICIE
4. %

Question Number : 148 Question Id : 6981774129 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

“Imagination of the outcomes based on known information” 15 the learning

indicator of this academic standard.

50 Yaifvih A FT Tohde ‘AT PRI & MR W IROMA H Fouqar g 17

Options :

Experiments and field obzervations

- ggier 3T &F aeiea

Formulation of hypothesis

qahedslr &1 SEaor
2. %

Conceptual understanding

3. ®



Information skills and project works

. =T ierel Td qiars

Question Number : 149 Question Id : 6981774130 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statements are true related to elements of teaching

learning approach?

fRITor 31feer TfSemivr & dodl & et T FUd Jgai=T

A) The approach should help children learn how to learn

= TfScahivr T aoai F dEa 7 Jeg &ofr Afgv & Fa d@ar §

B) The approach should engage children in learning activity

=T TiScahIvT & aal o drger 1 Afafafes 7 Toea wer @ifge |

C} Product skills must be integral part of environmental studies teaching

learning process

391G, hiRrel 9Tedor 3reaye fRietor ifeerey $r ufshar &1 sifdes 307 gl
T |

D) The approach should be in accordance with children’s individual

differences

TiSeshior dedl T eafdaerd faeeld3it & 3189 glell d1igu

Choose the correct answer:

el 30T F gl d L |

Options:

AB.C&D
1. %

A B& Conly

Fad A B&C
2. %



A.B& Donly

thael A, B &D
3.¢

B.C& D only

taad B.C& D
4, %

Question Number : 150 Question Id : 6981774131 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

This committee in the report stated that school curriculum should be totally re-
organised for sharpening of natural creative abilities of students and to make

teaching meaningful.

=0 wiAfd & RO & &g & Rt § w@pnfas s awast # e
& fou qur feor & weie g & U el goaha A 9ol §9 § gefod
ferar S TIfgu |

Options:

Yashpal committee

ATl FHHCT
1.4

Ishwarbhai patel committee

- SRl Teel HHET

Bamakrishna Rao committee

Tﬂ:l-_fmﬂl'lﬁ'fﬁﬂf
3. %



Kastur1 Rangan committee

EQL Tlel HHST
4. %



